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Concept Lecture -2




The least number, which when divided by 4,

5 and 6 leaves remainder 1,2 and 3
respectively, is: @
98 FIaH WEAT FAT B 4,5d9T 6

d HET ¢ 9T HAA: 1,2 9491 3 AW
41 87
A57 b) 59 c) 61 d) 63

L(.MQ;,{,‘:) -3




The greatest number of four digits which
when divided by[3Z,16 and 24 ) leave
remainders 2, 6 and 14 respectively is:
IR 3P 1 g8 Ahdaw & F4r gt
S 12,16 9T 24 ¥ HWT S W FAM:
2,6 AT 14 AY 94T g2

9974 b) 9970 ) 9807 d) 9998




Find the least multiple of 23, which when
divided by{ 18221);nd 24leaves remainder 7,
10and 13 resp:ctively.
23 & FgAGA AUNE AT W, fHEH
18,21 YT 24 ¥ HET G W HAA: 7,
10, 94T 13 AY TA?

\;(3013 b) 3024 ¢) 3002 d) 3036




Let ‘S’ be the set of all three digit numbers
= 60 which gives, 1,2, 3 remainders respectively

_ when divided b m What is the sum of
- 6‘“2.""60)‘34'60)(‘“" - Hoxi all the numbersin ‘S’?

‘5" 37 gAY AT 3rRT Y HETAT FT TH

: 5 A ¢ Bee 3,43 5 @ Rnfaa ==
ne N=|6’ W HFAM: 1,23 3 qw SEar g ‘s H
i —+ Alse Tsft FETA FT1 ASHA AT F
S~ 8070 b)8098  )8100
6((2.\%,“5)- 2» d) 8128  e) None of these
=6ox13,57- 39 &y Go ﬁ%a, 16
=z Rloo- X7
_ 30 ~1%6., 3 3°’QI
= 8070 ‘K :—lss. (33
39

[ >



AY k-2
Ql\l:'—/
N= S)MK-

:mk—ﬁ\/"'

7

‘N’ is a three digit_number. If twice of ‘N’
when divided bmeave remainders of

2,4, 6 respectively. What is the smallest

possible value of N?

‘N'UF AT HHT P WEAT §| IR N’ F
aN M 4,6 AR 8 ¥ o fma
T Y FHAIR 2,4 3T 6 A Fad §| N
FT FATH HHT AT FAT §IM?

a) 994 b) 982 )11

d) 59 107




2,5 16,7, QIQ,/U
26°
€x9x5x 7
= 2520 -]
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10 thieves steal x coins and escape. While all are asleep,
2 thieves wake up and divide the coins between them and find
one coin extra. Just then, a third thief wakes up. So the three
thieves divide all the coins among them and find 2 coins extra.
Again just then, a fourth thief wakes up. Again on dividing the
coins among them, 3 coins are extra. This continues till the
tenth thief wakes up and on dividing the coins among them
9 coins are extra. What is the least value of x?

10 IR & x T T | FgF @S W 2 IR F IoHF J9H A
s aic, W 1 [eFwr A a7 737 | It v 3R IR 35 =
ik =t & ReF T, W 39 2 RAed Ay a9 & | 93 o 3k
IR 30T 3N RAFH e W 3 [ad Av 79 | W & gaar W@
NI MFIFARRADF e AT 9 RFF AT a2 | x &1

TIATH AT FIAT 87 251
a)2529  b) 5039 \/)ﬁs d) 2521
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A number gives 2 remainder when divided
b @‘ temainder when divided b nd 7
remainder when divided by What'is the
remainder if such number is divided by 35?
PR R dE'wr B 5 @ e Y
al 2 AY Fuar &, 7 & fsnfaa &Y a
4 Y g9ar g, 10 ¥ fenfoa &1 ar 7
AY FUAT §] PR SH FEAT & 35 W
—32Y e &Y ar F4 Q\Tyﬂvn?
a)3 b) 37 32
do e) cannot be determined
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There are three lights Red, Blue and Yellow.

-The lights will be switched ON for

-4,7,10 seconds respectively and each light is
so—_~|-switched OFF for 8 seconds.[jf all the lights

LM (12,18 1 18) =36 x5= 180

m-x-—@

were switched ON togetheﬂat a certain time,
after how much time all the lights will be

s%:witchec,l OFDtogether’-’

e
—

e afem (are, el it diell) Faer 4,
7 3 10 FHsH & AT Fad § i R
gl 8 AFsH & T ¥ @ § | IR
IR afT shed! s Y A @Y RRae
AHsH d¢ ¥ UF FIY ¢ gei?

a)140sec b)176sec c) 180 sec \,d{172 sec




. 2 There are three bells A, B and C. The bells ring
— ee—u|—after intervals of“% seconds, 1 % seconds and 6

7 . .

) “’g —--‘—1—0 seconds respectively and each bell rings for 1
| 41“ - w}——second, If all the three bells start ringing

—\ together now, again after how much time all the

bells start ringing together?
az, Il 71 % Assmcanmmﬁgmm"s%m
S ST 1 %55 3R 6 - 98 & Ieeiel & G
ot ¥ 3k R e 1 s ¥ e

0.8 am—l’r% arsft weft wfear ver Wiy s
fhdst AFs & 9 GERT TH Y

&iﬂ

30. 8 sec b) 1366.8sec c) 62.6 sec
d) 2733.6sec d) none of these

| | 10




0 . R There are three lights Red, Green and Orange.
2.5 = wJ*.The lights will be ON after intervals of
2 23 L 112 18 seconds, 22 seconds and 34 seconds
— respectively and each light is put off after 2

(N v 2 .
2. 3M —~—|—wseconds. If all the lights were ON together now,
— and all lights were simultaneously got OFF after
‘t’ seconds, where(600 < t < 800) find ‘t’?

i arel, &0 3R F@ah T A e e &) =
QL";-?.", 36— T2x5= 360 AETH A FAY 18,22 I 34 Ve a:
t= 360me3 m#mmm%aﬁtmm

\ w3l AEeH B UFH WY ST A0 AR Feft
AReH ¢ WAhsS & 9 TS AT §¢ g AT
ET 600 < t < 800% & ‘¢ tl?naﬂ’n
a) 602 b)718  ¢) 720

722 e) None of these

| | 11
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In a book store, each of the word on the
glow sign board {MODERN,BOOK,STORE is

. . 5 17 41
visible after 27 2 and 5 seconds

respectively. Each of them is put off after 1
second. Find the time after which one
person can completely see the glow sign
board again?

fFdl g% TR & @1 W fAd ‘MODERN

5 17

BOOK STORE’ &T Y& 2Usc HALU T

3R L 9z & s Raar §| 99 1
d5T ¥ A dg FT AT e ¥ feaw
AT & 915 UF Al W 15 F G&ERT
wwm%'»
73.5 sec b) 79.4 sec
c) 68.2 sec d) None of these

12
| (CAT 2002) |




What is the smallest number which when
divided by( 6,7 and 8 zeaves a remainder of
1, 3, 5 respectively?

168 1)= aF sgAdA wedr F¥41 § faae 6,7 30K 8
¥ e & W FAT: 1,3,5 AV

g2
16€&n-1/ . ;157 b)254  ¢)31 d)doesn’t exist




What is the smalle umber which when
9 divided b ,8 and 9 |eaves a remainder
1y g |/ of 2, 4, 6 respectively?

x
1 /// y /?6 98 qAaH wedr ¥ ¢ e
'_*\VS:\\: \\?, 7,8 3 9 ¥ Renfoa F&r W FaATw:

3 2,4,6 ATH T §?
a)51 b) 114
S0 l’] - \}’)4)2 d) doesn’t exist




Let x be the smallest positive integer such
that when 14 divides x, the remainder is 7;
and when 15 divides x, the remainder is 5.
Which one of the following is correct?

AT AT x aF AAA T qUITE §
fF Sa x 1 14 ¥ Rnfoa @Far srar
¢ @ AYGS 7 BT & AR IT x F 15
¥ fsnfoa frar amar &, o dwwe 5
giar g Refef@ad & & &l @1

aer &7
a)20 < x < 30 30 < x < 40

)40 <x <50 d)x > 50

| CDS 2019, Paper 2 | 15



M is the largest three digit number which
6q+5= f_b‘l'z;’ = when divided by 6 and 5 leaves remainder 5
- "‘3 and 3 respectively. What will be the

remainder when M is divided by 11?

M i IR fr Fad 991 wEam 7 O,

G%M:,s—b J9 6 auT 5 ¥ A AT omar §
2 ar AT FHN: 5 TAT 3 AT ¢ SF M
G| 1é$ﬁmammmem
T EXT?
LM (&5 Jn +2. 3 a1 b)2 03 4
= 5oM +33

| SSC CGL 2017 T-2 | 16



How many three digit numbers when
divided by give 2,6, remainders
respgctively? 2, !

% 3 3H & W fhae wEAw § e
35 5 3T 7 & HIT et W HAAT 2 34X 6
- AY AT §?
=4 vxlzﬁ)a)zzl 25 c) 27 d) 26
|




N= @a-}\]:_/@zll—lz +4

LCM(s,i?,ym +3)
1R n 43

2,

A number when divided by 3, 8,9 leaves
1, 7,4 remainders respectively. What is the
remainder if such number is divided by 12?
et @=ar # 3,8 IR 9 ¥ Renfaa
A W HFAT 1,7 3 4 I war g
AY UaT HY IR SH FEAT # 12 W
snfaa frar s

a)1 b) 5 7

d)9 d) cannot be determined




On dividing a number by 3,4 and 7, the
remainders are 2,1 and 4 respectively. If

2)0 + = (“)H = 7C 1t 4’ the same number is divided by 84, then the
remainder is:

. frdt g'ar & 3,4 3k 7 @ Ranfaa
Rx+3 ANtas5 FT G HAY 2,1 3T 4 oY TS
\/ IR 3 wEd B Q)T Renfaa fran

J ST af 47 AT FAIM?

a) 80 b) 76

8Y 1’\+<5'3> \_g)/gg d) None of these
8Y g 3
Y +3 = =
X

| (CAT 2000) | 19
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